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• c = 3, 00× 108 m s−1

• ε0 = 8, 85× 10−12 F m−1

• e = 1, 60× 10−19 C

• me = 9, 11× 10−31 kg

• G = 6, 67× 10−11 m3 kg−1 s−2

• MT = 5, 97× 1024 kg

• RT = 6, 37× 106 m

• TT = 86, 2× 103 s
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•
•
• hs = 1339 km

• Ts = 6745 s

Ts

hs
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• f = 13, 6 GHz

• τ = 3 ns

• d = 1, 20 m

• θ = 1, 28◦

t

128× 3, 25 ns

128 × 3, 25 ns
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m s−2 1 mGal = 10−5 m s−2

5 µGal

g

λ = 633 nm OX
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M h = hp ! RT

z = 0 M
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hP = 103 m ρP = 2, 8× 103 kg m−3
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a Oz N
I Q Oz

(r, θ, z)

B(Q) = N I α(z) r ur +
(
N I f(z) +N I β(z) r2

)
uz

α(z) =
3

4

µ0 a2 z

(a2 + z2)5/2
, f(z) =

µ0 a2

2 (a2 + z2)3/2
. β(z) =

3

8

µ0 a2
(
a2 − 4 z2

)

(a2 + z2)7/2

R M

Ep(M) =
πR3

µ0
B2(M) M

Oz z > 0

F (z)

F (z) = γ0
z(

a2 + z2)4
I2 uz ,

γ0 a N µ0 R

φ : x "→ x

(1 + x2)4

IM I > IM
z1 z2 z1 < z2 z1 z2

Oz

g

௅����௅


